A AKX
FH: 2= X2 EXURX 2SR - SAI|Y/RPHLEFI)

&2l EXsX s &M (&= &)
SH - A(3) - MIFEAE - HHES Ol &t 24 JNEA Blus2
AKXt 2,527,357 2,495,082 32,275
)Sli‘ 2 EXRX 2sH A - SAI|Y/RELEXRA 2,447,315 2,415,040 32,275

SR s &N 189,840 169,440 20,400
oiel | Agx =& 76,000 73,000 3,000

301 EBtEas 9,000 6,000 3,000
07 BI2+oI=2|(d4| 9,000 6,000 3,000
OBH2AAE NHAY =& 9,000 6,000 3,000
SR s =& 113,840 96,440 17,400
201 LEr2SEH| 52,840 37,840 15,000
01 Attt 52,840 37,840 15,000
OFXRI B & ZZFHE =& 52,840 37,840 15,000

301 LEtEals 25,000 22,600 2,400
12 JIEt2 4= 24,000 21,600 2,400
OFX=®X 22 2% 24,000 21,600 2,400
SN ZZHE Y 2,257,475 2,245,600 11,875
=0 EXNRA Z2HE AESHIIETIIA) 11,875 0 11,875
403 XXIEHHISKH=01S 11,875 0 11,875
02 SI|2SOICHSHE AL I 11,875 0 11,875
OAX=X ZZHE MEHL 11,875 0 11,875
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